1) Let a random variable X be uniformly distributed over [a, b] with expected value 6 and variance 4. Find the value of ab.
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The probability density function of the time X (in minutes) between calls at the customer care center is given by
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2) Find the expected time (in minutes) between calls.
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. 3) Find the probability that time between calls exceeds the expected time.
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| 4) Let X ~ Exp(). Find Var(X).
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5) Let X be a continuous random variable. Probability that X takes a value within 2 standard deviations of the expected

value is:
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6) The probability density function of a random variable X is given as

— 1<z <?2

0 otherwise

Find the cumulative distribution function of X.
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7) The probability density function of a random variable X is given as
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Find the expected value of X . (Hint: f %dw = "71 -+ c where cis a integration constant)
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8) The probability density function of a random variable X is given as
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otherwise

Find the variance of X . Write your answer correct to two decimal points
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9) The probability density function of a random variable X is given as
. x 0<a<1
fx(z)={2—-2z 1<z<2
B 0 otherwise
N Find the expected value of X2. Write your answer correct to two decimal places.
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